

# Coefficient Estimates on Laguerre Polynomials Involving $\lambda$ -Pseudo Starlike Function

P. Lokesh

Department of Mathematics, Adhiparasakthi College of Engineering, G.B.Nagar, Kalavai, Tamil Nadu, India.

**Abstract :** In this investigation, we introduce a new subclass of univalent, Sakaguchi and  $\lambda$  - pseudo starlike functions  $LP_{\Sigma}(\lambda, \mu, b)$  by means of the generalized Laguerre polynomials defined in the open unit disc  $\Omega$ . Coefficient bounds and Fekete – Szego inequality to the said subclass are obtained.

**2010 Mathematical Subject Classification:** 30C45, 30C50, 33C45.

**Keywords:** Univalent functions, Sakaguchi function,  $\lambda$  - pseudo star like function, Laguerre polynomials, Subordination.

## I. Introduction

Let  $A$  be the family of functions  $f$  that are analytic in the open unit disk  $\Omega = \{z \in \mathbb{C} : |z| < 1\}$  of the form:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1}$$

For  $g(z) \in A$ , given by

$$g(z) = z + \sum_{k=2}^{\infty} g_k z^k$$

Let  $S$  mean the subclass of  $A$  consisting of univalent functions in  $\Omega$ . It is well known (refer[2]) that every function of  $f \in S$  virtually possesses an inverse of  $f$ , defined by  $f^{-1}[f(z)] = z, (z \in \Omega)$  and  $f[f^{-1}(w)] = w, (|w| < r_0(f); r_0(f) \geq \frac{1}{4})$ , where

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + \dots \tag{2}$$

When the function  $f \in A$  is bi univalent, both  $f$  and  $f^{-1}$  are univalent in  $\Omega$ . Let  $\Sigma$  be the class of bi univalent functions in  $\Omega$  given by (2). In fact, Srivastava et al.[11] have revived the study of analytic and bi univalent functions in recent years. Many researchers investigated and propounded various subclasses of bi univalent functions and fixed the initial coefficients  $|a_2|$  and  $|a_3|$  (refer [4, 5, 7, 8, 9, and 10]).

For analytic functions  $f$  and  $g$ ,  $f$  is said to be subordinate to  $g$ , denoted  $f(z) \prec g(z)$ , if there is an analytic function  $w$  such that  $w(0) = 0, |w(z)| < 1$  and  $f(z) = g(w(z))$ .

Frasin [3] investigated the inequalities of coefficient for certain classes of Sakaguchi type functions that satisfy geometrical condition as



$$\operatorname{Re}\left\{\frac{(s-t)z(f'(z))}{f(sz)-f(tz)}\right\} > \alpha \tag{3}$$

for complex numbers  $s, t$  but  $s \neq t$  and  $\alpha$  ( $0 \leq \alpha < 1$ ).

Recently for some  $\lambda \geq 1$  in [1] Babalola introduced and investigated the class of  $\lambda$ -pseudo starlike functions of order  $\alpha$ , ( $0 \leq \alpha < 1$ ) denoted by  $L_\lambda(\alpha)$  as

$$\Re\left(\frac{z(f'(z))^\lambda}{f(z)}\right) > \alpha, (z \in \Omega) \tag{4}$$

For real number  $\delta > -1$ , the polynomial solution  $h(\theta)$  of the differential equation (refer [6])

$$\theta h'' + (1 + \delta - \theta)h' + nh = 0. \tag{5}$$

where  $n$  is non-negative integers, is called generalized Laguerre polynomial or associated Laguerre polynomial and it is denoted by  $L_n^\delta(\theta)$ . It has many applications in areas of mathematical physics and quantum mechanics, for example in the integration of Helmholtz's equation in paraboloidal coordinates, in the theory of propagation of electromagnetic oscillations along long lines and so on. These polynomial satisfy certain recurrence relations, namely,

$$L_{n+1}^\delta(\theta) = \frac{2n+1+\delta-\theta}{n+1}L_n^\delta(\theta) - \frac{n+\delta}{n+1}L_{n-1}^\delta(\theta), (n \geq 1) \tag{6}$$

with the initial conditions

$$L_0^\delta(\theta) = 1, L_1^\delta(\theta) = 1 + \delta - \theta. \tag{7}$$

It can easily derived from (6) that

$$L_2^\delta(\theta) = \frac{\theta^2}{2} - (\delta+2)\theta + \frac{(\delta+1)(\delta+2)}{2},$$

$$L_3^\delta(\theta) = -\frac{1}{6}\theta^3 + \frac{(\delta+3)}{2}\theta^2 - \frac{(\delta+2)(\delta+3)}{2}\theta + \frac{(\delta+1)(\delta+2)(\delta+3)}{6}. \tag{8}$$

and so on.

It may be noted that the simple Laguerre polynomials are the special case  $\delta = 0$  of generalized Laguerre polynomial i.e.  $L_n^0(\theta) = L_n(\theta)$ .

**Result 1.1**(see [6]). Let  $\xi(\theta, z)$  be the generating function of the generalized Laguerre polynomial  $L_n^\delta(\theta)$ . Then

$$\xi(\theta, z) = \sum_{n=0}^{\infty} L_n^\delta(\theta) z^n = \frac{e^{-\frac{\theta z}{1-z}}}{(1-z)^{\delta+1}}, (\theta \in \Re, z \in \Omega) \tag{9}$$

**Definition 1.2.** A function  $f \in \Sigma$  of the form (1) is said to be in the class  $LP(\lambda, \mu, b)$  if it satisfies the following subordination conditions:

$$\frac{((1-b)z)(f'(z))^\lambda}{\mu z(f'(z) - bf'(bz)) + (1-\mu)(f(z) - f(bz))} \prec \xi(\theta, z), (z \in \Omega) \tag{10}$$

and

$$\frac{((1-b)w)(g'(w))^\lambda}{\mu w(g'(w) - bg'(bw)) + (1-\mu)(g(w) - g(bw))} \prec \xi(\theta, w), (w \in \Omega) \tag{11}$$

where  $0 \leq \mu < 1, \lambda \geq 1, |b| \leq 1$  but  $b \neq 1$  and

$$g(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots$$

Putting the parameters  $\mu = b = 0$  and  $\lambda = 1$  that was studied by T.Panigrahi et al [12].

The main objective of this paper is to obtain the coefficient bounds on the Taylor – Maclaurin coefficients on  $a_2$  and  $a_3$  and the Fekete – Szego inequality for the function of the subclass  $LP_\Sigma(\lambda, \mu, b)$ .

## II. Coefficient Bounds

**Theorem 2.1.** For  $0 \leq \mu < 1, \lambda \geq 1, |b| \leq 1$  but  $b \neq 1$ , let the function  $f \in \Sigma$  be in the class  $LP(\lambda, \mu, b)$ . Then

$$|a_2| \leq \frac{|1 + \delta - \theta| \sqrt{|1 + \delta - \theta|}}{\sqrt{\left| \left[ (3\lambda - (1 + 2\mu)(1 + b + b^2) + 2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda)) (1 + \delta - \theta)^2 \right] - (2\lambda - (1 + \mu)(1 + b))^2 \left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right) \right|}}, \tag{12}$$

and

$$|a_3| \leq \frac{(1 + \delta - \theta)^2}{(2\lambda - (1 + \mu)(1 + b))^2} + \frac{1 + \delta - \theta}{3\lambda - (1 + 2\mu)(1 + b + b^2)}. \tag{13}$$

**Proof.** Let  $f \in LP_\Sigma(\lambda, \mu, b)$  be given by (1) and  $g = f^{-1}$ . Then there are two analytic functions  $\phi, \varphi$  such as  $\phi(0) = \varphi(0) = 0$  and  $|\phi(z)| < 1, |\varphi(w)| < 1$  for all  $z, w \in \Omega$ , which can be written as

$$\frac{((1-b)z)(f'(z))^2}{\mu z(f'(z)-bf'(bz))+(1-\mu)(f(z)-f(bz))} = \xi(\theta, \phi(z)), \tag{14}$$

and

$$\frac{((1-b)w)(g'(w))^2}{\mu w(g'(w)-bg'(bw))+(1-\mu)(g(w)-g(bw))} = \xi(\theta, \varphi(w)). \tag{15}$$

It is fairly well – known that if

$$|\phi(z)| = |u_1z + u_2z^2 + u_3z^3 + \dots|, (z \in \Omega),$$

and

$$|\varphi(w)| = |v_1w + v_2w^2 + v_3w^3 + \dots|, (w \in \Omega).$$

Then

$$|u_k| < 1 \text{ and } |v_k| < 1, \text{ for } k \in N \tag{16}$$

From the equalities (14) and (15), it is obtained that

$$\begin{aligned} \frac{((1-b)z)(f'(z))^2}{\mu z(f'(z)-bf'(bz))+(1-\mu)(f(z)-f(bz))} &= \sum_{n=0}^{\infty} L_n^\delta(\theta) |\phi(z)|^n \\ &= 1 + L_n^\delta(\theta) u_1 z + [L_n^\delta(\theta) u_2 + L_n^\delta(\theta) u_1^2] z^2 + \dots \end{aligned} \tag{17}$$

and

$$\begin{aligned} \frac{((1-b)w)(g'(w))^2}{\mu w(g'(w)-bg'(bw))+(1-\mu)(g(w)-g(bw))} &= \sum_{n=0}^{\infty} L_n^\delta(\theta) |\varphi(w)|^n \\ &= 1 + L_n^\delta(\theta) v_1 w + [L_n^\delta(\theta) v_2 + L_n^\delta(\theta) v_1^2] w^2 + \dots \end{aligned} \tag{18}$$

Comparing the coefficients of (14) and (15), it is deduced that

$$(2\lambda - (1 + \mu)(1 + b))a_2 = L_1^\delta(\theta) u_1, \tag{19}$$

$$\left\{ \begin{aligned} &(3\lambda - (1 + 2\mu)(1 + b + b^2))a_3 \\ &+ (2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda))a_2^2 \end{aligned} \right\} = L_1^\delta(\theta) u_2 + L_2^\delta(\theta) u_1^2, \tag{20}$$

$$-(2\lambda - (1 + \mu)(1 + b))a_2 = L_1^\delta(\theta) v_1, \tag{21}$$

$$\left\{ \begin{aligned} & (3\lambda - (1 + 2\mu)(1 + b + b^2))(2a_2^2 - a_3) \\ & + (2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda))a_2^2 \end{aligned} \right\} = L_1^\delta(\theta)v_2 + L_2^\delta(\theta)v_1^2. \tag{22}$$

It follows from (19) and (21) that

$$u_1 = -v_1, \tag{23}$$

and

$$2(2\lambda - (1 + \mu)(1 + b))^2 a_2^2 = (L_1^\delta(\theta))^2 (u_1^2 + v_1^2), \tag{24}$$

By summing (20) and (21), it is found that

$$\left( \begin{aligned} & 2(3\lambda - (1 + 2\mu)(1 + b + b^2)) \\ & + 2(2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda)) \end{aligned} \right) a_2^2 = L_1^\delta(\theta)(u_2 + v_2) + L_2^\delta(\theta)(u_1^2 + v_1^2), \tag{25}$$

By substituting the values of  $(u_1^2 + v_1^2)$  from (24) in the right side of (25), it is obtained that

$$2 \left\{ \begin{aligned} & \left[ \begin{aligned} & (3\lambda - (1 + 2\mu)(1 + b + b^2)) \\ & + (2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda)) \end{aligned} \right] (L_1^\delta(\theta))^2 \\ & - (2\lambda - (1 + \mu)(1 + b))^2 L_2^\delta(\theta) \end{aligned} \right\} = (L_1^\delta(\theta))^3 (u_2 + v_2), \tag{26}$$

By simple computations using (7), (8), (16) and (26), it is determined that

$$|a_2| \leq \frac{|1 + \delta - \theta| \sqrt{|1 + \delta - \theta|}}{\sqrt{\left| \left[ \begin{aligned} & (3\lambda - (1 + 2\mu)(1 + b + b^2) + 2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda)) (1 + \delta - \theta)^2 \end{aligned} \right] - (2\lambda - (1 + \mu)(1 + b))^2 \left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right) \right|}}.$$

By subtracting (22) and (20), it is deduced that

$$2(3\lambda - (1 + 2\mu)(1 + b + b^2))(a_3 - a_2^2) = L_1^\delta(\theta)(u_2 - v_2) + L_2^\delta(\theta)(u_1^2 - v_1^2), \tag{27}$$

Thus, applying (7) and (8), it is concluded that

$$|a_3| \leq \frac{(1 + \delta - \theta)^2}{(2\lambda - (1 + \mu)(1 + b))^2} + \frac{1 + \delta - \theta}{3\lambda - (1 + 2\mu)(1 + b + b^2)}. \quad \square$$

By setting, the parameters  $\mu = b = 0$  in Theorem 1.1., it is claimed that

**Corollary 2.1.** Let  $f \in LP_\Sigma(\lambda)$ , then

$$|a_2| \leq \frac{|1 + \delta - \theta| \sqrt{|1 + \delta - \theta|}}{\sqrt{\left| ((3\lambda - 1) + 2\lambda(\lambda - 1) + (1 - 2\lambda))(1 + \delta - \theta)^2 - (2\lambda - 1)^2 \left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right) \right|}},$$

and

$$|a_3| \leq \frac{(1 + \delta - \theta)^2}{(2\lambda - 1)^2} + \frac{1 + \delta - \theta}{3\lambda - 1}.$$

Putting the parameter  $\lambda = 1$ , in the corollary 2.1, that was obtained by T.Panigrahi et al [12].

**Remark 2.1.** Let  $f \in LP(1)$ , then

$$|a_2| \leq \frac{|1 + \delta - \theta| \sqrt{|1 + \delta - \theta|}}{\sqrt{\left| (1 + \delta - \theta)^2 - \left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right) \right|}},$$

and

$$|a_3| \leq (1 + \delta - \theta)^2 + \frac{1 + \delta - \theta}{2}.$$

### 3 Fekete – Szego inequalities for the class $LP_{\Sigma}(\lambda, \mu, b)$

The Fekete – Szego inequalities for function  $f$  in the class  $LP_{\Sigma}(\lambda, \mu, b)$  is given by the following theorem.

**Theorem 3.1.** Let the function  $f$  given by (1) be in the class  $LP_{\Sigma}(\lambda, \mu, b)$ . Then for any real number  $\sigma$ , we have

$$|a_3 - \sigma a_2^2| \leq \begin{cases} \frac{|1 + \delta - \theta|}{3\lambda - (1 + 2\mu)(1 + b + b^2)}, |\sigma - 1| \leq \frac{|A_1|}{(3\lambda - (1 + 2\mu)(1 + b + b^2))(1 + \delta - \theta)^2} \\ \frac{|1 + \delta - \theta|^2(1 - \sigma)}{|A_1|}, |\sigma - 1| \geq \frac{|A_1|}{(3\lambda - (1 + 2\mu)(1 + b + b^2))(1 + \delta - \theta)^2} \end{cases}$$

where

$$A_1 = \left[ (3\lambda - (1 + 2\mu)(1 + b + b^2) + 2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda)) \right] (1 + \delta - \theta)^2 - (2\lambda - (1 + \mu)(1 + b))^2 \left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right)$$

**Proof.** From (25) and (27), it is observed that

$$\begin{aligned} a_3 - \sigma a_2^2 &= a_2^2 + \frac{L_1^\delta(\theta)(u_2 - v_2)}{2(3\lambda - (1 + 2\mu)(1 + b + b^2))} - \sigma a_2^2 = (1 - \sigma)a_2^2 + \frac{L_1^\delta(\theta)(u_2 - v_2)}{2(3\lambda - (1 + 2\mu)(1 + b + b^2))} \\ &= \frac{(1 - \sigma)(L_1^\delta(\theta))^3(u_2 + v_2)}{\left\{ \left[ \begin{array}{l} 3\lambda - (1 + 2\mu)(1 + b + b^2) \\ + 2\lambda(\lambda - 1) \\ + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda) \end{array} \right] (L_1^\delta(\theta))^2 \right.} + \frac{L_1^\delta(\theta)(u_2 - v_2)}{2(3\lambda - (1 + 2\mu)(1 + b + b^2))} \\ &\quad \left. \left[ \begin{array}{l} - (2\lambda - (1 + \mu)(1 + b))^2 L_2^\delta(\theta) \end{array} \right] \right\}} \\ &= L_1^\delta(\theta) \left[ \left( \eta(\sigma, \theta) + \frac{1}{2(3\lambda - (1 + 2\mu)(1 + b + b^2))} \right) u_2 + \left( \eta(\sigma, \theta) - \frac{1}{2(3\lambda - (1 + 2\mu)(1 + b + b^2))} \right) v_2 \right] \end{aligned}$$

where

$$\eta(\sigma, \theta) = \frac{(1 - \sigma)(L_1^\delta(\theta))^2}{\left[ \begin{array}{l} 3\lambda - (1 + 2\mu)(1 + b + b^2) \\ + 2\lambda(\lambda - 1) + (1 + \mu)(1 + b)((1 + \mu)(1 + b) - 2\lambda) \end{array} \right] (L_1^\delta(\theta))^2 - (2\lambda - (1 + \mu)(1 + b))^2 L_2^\delta(\theta)}$$

In view of (7) and (8), it is concluded that

$$|a_3 - \sigma a_2^2| \leq \begin{cases} \frac{|1 + \delta - \theta|}{3\lambda - (1 + 2\mu)(1 + b + b^2)}, 0 \leq \eta(\sigma, \theta) \leq \frac{1}{2(3\lambda - (1 + 2\mu)(1 + b + b^2))}. \\ |\eta(\sigma, \theta)|, |\eta(\sigma, \theta)| \geq \frac{1}{2(3\lambda - (1 + 2\mu)(1 + b + b^2))} \end{cases}$$

This completes the proof of the Theorem 3.1. □

By taking the parameters  $\mu = b = 0$  in the above Theorem 3.1, it is found that

**Corollary 3.1.** For  $\eta \in \mathfrak{R}$ , let the function  $f \in LP_\Sigma(\lambda, \mu, b)$ . Then

$$|a_3 - \sigma a_2^2| \leq \begin{cases} \frac{|1 + \delta - \theta|}{3\lambda - 1}, |\sigma - 1| \leq \frac{|A_2|}{(3\lambda - 1)(1 + \delta - \theta)^2} \\ \frac{|1 + \delta - \theta|^2(1 - \sigma)}{|A_2|}, |\sigma - 1| \geq \frac{|A_2|}{(3\lambda - 1)(1 + \delta - \theta)^2} \end{cases}$$

where  $A_2 = (2\lambda^2 - \lambda)(1 + \delta - \theta)^2 - (2\lambda - 1)^2 \left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right)$

By putting  $\lambda = 1$  in Corollary 3.1, which was investigated by T.Panigrahi et al [12].

**Remark 3.1.** Let the function  $f \in \Sigma$  given by (1) be in the class  $LP(1)$ . Then for  $\eta \in \mathfrak{R}$ , it is obtained that

$$|a_3 - \sigma a_2^2| \leq \begin{cases} \frac{|1 + \delta - \theta|}{2}, \\ |\sigma - 1| \leq \frac{1}{2} \left| 1 - \frac{\left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right)}{(1 + \delta - \theta)^2} \right| \\ \frac{|1 + \delta - \theta|^2(1 - \sigma)}{\left| (1 + \delta - \theta)^2 - \left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right) \right|}, \\ |\sigma - 1| \geq \frac{1}{2} \left| 1 - \frac{\left( \frac{\theta^2}{2} - (\delta + 2)\theta + \frac{(\delta + 1)(\delta + 2)}{2} \right)}{(1 + \delta - \theta)^2} \right| \end{cases}$$

### References

- [1] K.O. Babalola, On  $\lambda$ -pseudo-starlike functions, J. Class. Anal., 3(2) (2013) 137 – 147.
- [2] P. L. Duren , Univalent Functions, Grundlehren der Mathematischen Wissenschaften, Band 259, Springer Verlag, New York, Berlin, Heidelberg and Tokyo, (1983).
- [3] B.A. Frasin , Coefficient inequalities for certain classes of Sakaguchi Type functions, Int. J. of Nonlinear Science, 10(2) (2010) 206-211.
- [4] B. A. Frasin and M. K. Aouf , New subclasses of bi-univalent functions, Appl. Math. Lett., 24 (2011) 1569–1573.
- [5] S. P. Goyal and P. Goswami , Estimate for initial Maclaurin coefficients of bi-univalent Functions for a class defined by fractional derivatives, J. Egyptian Math. Soc., 20, (2012) 179-182.
- [6] N. N. Lebedev, Special Functions and Their Applications, Translated from the revised Russian edition (Moscow, 1963) by Richard A. Silverman. Prentice-Hall, Englewood Cliffs, N.J., (1965).
- [7] Netanyahu, E., The minimal distance of the image boundary from the origin and the Second coefficient of a univalent function in  $|z| < 1$ , Arch. Rational Mech. Anal. 32, (1969) 100- 112.
- [8] R. Singh , On Bazilevic functions, Proc. Amer. Math. Soc., 38(2) (1973) 261–271.
- [9] H. M. Srivastava and D. Bansal , Coefficient estimates for a subclass of analytic and Bi univalent functions, J. Egyptian Math. Soc., 23 (2015) 242–246..
- [10] H. M. Srivastava, S. S. Eker and R. M. Ali , Coefficient bounds for a certain class of analytic and bi-univalent functions, Filomat, 29 (2015) 1839–1845.
- [11] H. M. Srivastava, S. Gaboury and F. Ghanim , Coefficient estimates for some general subclasses of analytic and bi-univalent functions, Africa Math., 28 (2017) 693-706.
- [12] Trailokya Panigrahi, Janusz Solol, Generalized Laguerre Polynomial Bounds for subclass of bi- univalent functions, Jordan Journal of Mathematics and Statistics, 14(1) (2021) 127 – 140.